: No. of Printed Pages : 2

~ | 3168

IE301 ROIINO. ¢ ceeeeriiiirenrnnnnnace

2017
PROCESS CONTROLLER
fraifa o . d W) (rfrmem 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70

. () FYTFE A 8, 99 7 @ gl wla > I o
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) TAF F¥T F FH 47T 1 HHIR TH Gr 5T Ford |
Solve all parts of a question consecutively together.
(iti) ¥ Fv7 1 79 98 & IR Fiford |
Start each question on fresh page.
(iv) @1 TaTan § 3= 817 #1 fRufa 7 3 sgare A= 2 1

Only English version is valid in case of difference in both the languages.

1. T = awgsa
Explain the following :
) IR
Over shoot
(i) ATEHE
Offset
(iii) TT
Adder
(v) e et
Hydraulic Relay
, (v) g ufae yorred!
Close loop system (2x5)
(10of2) : P.T.O.
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38 T firn =1 aoengd Rl e & o1t e 7 Rean men € 1 Wy @ 3w
HR ! W FIR R aorg § 38 sret W T8 frn a2 |

Explain a control action which is cannot be used alone in the Industries. Also
explain the reason why it is not used alone.

maﬁaﬁzﬁwm (Comparator)%wﬁmﬁﬁﬁﬁma I

Explain the working of op-amp as comparator with a neat sketch. (6+6)

TR P + 1+ D feiaeh <) wrefsoneht =) wfes awgmed |

Explain the working of electronic P + I + D controller with a neat diagram. (12)

®

(i)

TS TR bt + 371 e ) wneme |
Explain a pneumatic P + I controller.

30 WO 320 <Y STTeTaehaT ) 3erE Wik anEe |

Explain need of feed forward control with example, (6+6)

A P + 1 + D fries Y s1ae o Srfsoneh o ahE gwemed |

Explain the construction and working of a hydraulic P + I + D controller. ‘ (12)

(@)

(i)

3NT1-31T% Tz wfshan Y o afea gueme |
Explain the on-off control action with diagram.
Th AR ft + € s ) sriwunet o) wwemea |

Explain working of an electronic P + D controller. (6+6)

G aitwY & g witay v Resm & qemn aifvd |

@)
Compare between open loop & close loop control system.
(ii) @mﬁamw@@mmaﬁmm% | 9 g TH
Tz syomreft <1 afm aoiy i |
In an industry two variables are to be controlled by a single control valve, which
control system will be used by you ? Describe with a neat sketch. (6+6)
1 = wiftrm & woeed
Explain the following in brief :
(1) AW HeH
Transfer function
(i) 3raher frar gy

Derivative action time

(iii) Tofora W= Freror fafy

Split range control scheme 4x3)



